

Bill to:

VALUE LOGISTICS INC DBA A1 VALUE

,

,

Invoice Date: 12/15/2023 Invoice #: 123416 Terms: NET 30

Due Date: 01/15/2024

Date	Customer Ref #	Origin - Destination	Quantity	Rate	Amount
12/14/2023		170 Prairie Lake Rd unit b, East Dundee, IL 60118, USA - 7460 Conowingo Ave bldg b, Jessup, MD, USA			
			1	\$2,150.00	\$2,150.00

TOTAL
-------

\$2,150.00

#### PLEASE NOTE

The right to payment under this invoice has been assigned to Compass payment Solutions LLC (CFS) and all payments hereunder are to be directed to the assignee at the address noted below. Remittances to other than CFS do not constitute payment of this invoice. CFS must be given notification of any claims, agreements or merchandise returns which would affect the payment of all or part of this Invoice on the due date.

COMPASS FUNDING SOLUTIONS LLC P.O.BOX 205154

**DALLAS, TX 75320-5154** 

Tel: 844-899-8092



Value Logistics Inc DBA A1 Value Logistics Inc 1441 Woodmont Ln NW #600, Atlanta GA 30318 Corporate No. 678-487-5508

# Carrier Rate Confirmation Load# 123416

12/14/23 10:58 (EST)

FROM	Unique	678-503-7708 X 218 (p)	678-666-3088 (f)	unique@valueloads.com
	ZIGI FREIGHT INC		6305661327	Disp: samm
CARRIER	Driver N:	Email: samm@royal3inc.	com	Driver Phone:
	Truck:	MC: 944686	Trailer:	DOT: 2828543

Size: 53 Equipment: Van Declared Value: \$ 48000.00 Pieces:

Commodity: packaging food Miles: Weight: 43000

Charges	Price	Dispatch Notes
Line Haul Rate	2,150.00	Need to pick & deliver as scheduled.
		If need any help feel free to contact me at any time direct line: 678-528-4242 & E-mail: unique@valueloads.com
Total Rate	USD \$ 2,150.00	

It is requested to pick and deliver according to the time mentioned in the rate and load confirmation, to avoid any debits. Solely, the carrier will be accountable for any damage to the goods during the conveyance. The rate agreed is final in all terms. Please send all the paperwork to ap@valueloads.com. / Please send any documentation to <a href="mailto:ap@valueloads.com">ap@valueloads.com</a> \*\*Please send the signed BOL within 7 days of delivery. Beyond 7 days a deduction may apply for late paperwork.\*\*

Carrier Signature : Samm Stanojevic Date : Dec 14, 2023



Formerly Alliance Creative Group

## PACKING LIST

DATE	PL#
12/14/2023	23-09081

#### **CONSIGNED TO**

Maryland Wholesale Produce Market 7460 Conowingo Ave \*\*\*Bldg. B / Unit 109 \*\*\* Jessup, MD 20794

#### **SHIPPER**

Foresight Packaging Solutions 160 Windsor Drive Unit B East Dundee, IL 60118

CUSTOMER PO	REP	SHIP DATE	SHIP VIA	NOTE
232303	232303 SMS		Delivered	

ITEM	DESCRIPTION	ORDERED	SHIPPED	Class
CG01-0084	Part #ZACG01-0084, 6 Pack for 1/4 oz Clamshells 600/Case 50 cases/Skid 30,000/Skid - Shipping 1 Skid	30,000		Foresight
ACG01-0044	Part #ZACG01-0044, 1/4 oz Clamshell 149410 800/Case 30 Cases/Skid (24,000)	24,000		Foresight

Errors and shortages must be reported within 24 hours of receipt or claims will not be accepted. No material may be returned without prior consent. Foresight Packaging Solutions LLC 160B Windsor Drive East Dundee IL 60118 Telephone 847.885.1800



Formerly Alliance Creative Group

#### **PACKING LIST**

DATE	PL#
12/14/2023	23-09081

#### **CONSIGNED TO**

Maryland Wholesale Produce Market 7460 Conowingo Ave \*\*\*Bldg. B / Unit 109 \*\*\* Jessup, MD 20794

#### SHIPPER

Foresight Packaging Solutions 160 Windsor Drive Unit B East Dundee, IL 60118

CUSTOMER PO	REP	SHIP DATE	SHIP VIA	NOTE
232303	SMS	12/14/2023	Delivered	

ITEM	DESCRIPTION	ORDERED	SHIPPED	Class
ZCDC01-0004	Part #ZCDC01-0004, 3 Pack for 2/3 oz Bag 300/Case Shipping: 3 Skids @ 16,200/Skid & 1 Skid @ 10,800/Skid	59,400		Foresight
ZACG01-0081	ZACG01-0081, 1/2 oz Clamshell 6 Pack 275/Case 13,200/Skid - Shipping 6 Skids	79,200	11	Foresight
ZACG01-0085	Part #ZACG01-0085, 6 Pack for 1.5-2 oz Clamshell 150/Case 7,500/Skid - Shipping 6 Skids	45,000		Foresight
0600-20-1011	Part #0600-20-1011 4 oz Bag 10 x 10 Reclosable Vented Poly Bags 1,000/Case - Shipping 60 Case(s)	60,000		Foresight

#### DATE

#### SIGNATURE

Errors and shortages must be reported within 24 hours of receipt or claims will not be accepted. No material may be returned without prior consent.

Foresight Packaging Solutions LLC 160B Windsor Drive East Dundee IL 60118 Telephone 847.885.1800



Formerly Alliance Creative Group

### PACKING LIST

DATE	PL#
12/14/2023	

#### CONSIGNED TO

Maryland Wholesale Produce Market 7460 Conowingo Ave \*\*\*Bldg. B / Unit 109 \*\*\* Jenny, MD 20794

#### SHIPPER

Foresight Packaging Solutions 160 Windsor Drive Umit B Fast Dundee, IL 60118

CUSTOMER PO	REP	SHIP DATE	SHIP VIA	NOTE
282303	SMS	12/14/2023	Delivered	

TETEDAT	DESCRIPTION	ORDERED	SHIPPED	Class
//.A/CIGH01-0088	Part #ZACGO1-0084, 6 Pack for 1/4 sz Clamshells 600/Case 50 cases/Skid 30,000/Skid - Shipping 1 Skid	30,800		Foresight
ZACIGIDI 40088	Part #ZACG01-0044, 1/8 oz Clamshell 149430 R00/Case 30 Cases/Skid (24,000)	24,000		Foresight

DATE

SIGNATURE

floors and shortages must be reported within 24 hours of receipt or claims will not be accepted. No material may be returned without prior consent.

Foresigis Packaging Salutions LLC 1600 Window Drive East Dunder II. 60118 Telephone 847.885.1800